

# Application of Pseudo-Analysis on Reduction of Nonlinear Ordinary Differential Equations

Jamal Saffar Ardabili<sup>1</sup> and Shabnam Jamshidzadeh<sup>2</sup>

<sup>1</sup> Department of Mathematics, Payame Noor University, I. R. of IRAN,

<sup>2</sup> Young Reserchers Club, Sarab Branch, Islamic Azad University, Sarab, Iran,

saffar@pnu.ac.ir, shjamshidzadeh@yahoo.com

**Abstract:** In this paper, we have presented a new method to solve second order nonlinear differential equations. Using the pseudo-operations given by monotone and continuous function  $g$ , the reduction of a nonlinear ordinary pseudo-differential equation is introduced and investigated.

**AMS Mathematics Subject Classification (2000):** 26A24, 39A10

**Keywords:** pseudo-analysis, pseudo-integral, nonlinear differential equation, reduction of pseudo-differential equation

## 1. Introduction

Motivation for the research presented here lies both in the capability of the pseudo-analysis and generalization of the classical analysis to extend the range of possible applications. Instead of the usual field of real numbers, the pseudo-analysis, (see [3, 7, 8, 9]), is based on a semiring acting on the real interval  $[a, b] \subset [-\infty, +\infty]$ , denoting the corresponding operations as  $\oplus$  (pseudo-addition) and  $\otimes$  (pseudo-multiplication) of the following form:

$$x \oplus y = g^{-1}(g(x) + g(y)), \quad x \otimes y = g^{-1}(g(x)g(y)),$$

where  $g$  is a strictly monotone and continuous generating function. By using these pseudo-operations [4, 5, 6, 9], new solutions for the considered nonlinear equation have been obtained. This method is capable of supplying solutions that were not achieved by the classical tools.

The reduction of the order of a nonlinear ordinary differential equation (NLODE) is a basic procedure in the reduction of a NLODE to quadratures. Using the pseudo-analysis and the reduction of a second order pseudo-differential equation to a first order pseudo-differential equation, it is possible to obtain solutions that can be interpreted in the aforementioned classical method.

## 2. Preliminaries

We consider a particular type of algebra, by means of a strictly monotonic function  $g : \mathbf{R} \rightarrow \mathbf{R}$ , which we assume to be of class  $C^2$  together with its inverse: we also require

that  $g(0) = 0$ , that  $g'(x) \neq 0$  for all  $x$ , and that  $g$  is onto, so its inverse is defined on the whole real line.

Using this map, we shall introduce some new operations in the real line as follows:

$$x \oplus y = g^{-1}(g(x) + g(y)), \quad x \otimes y = g^{-1}(g(x)g(y)), \quad (1)$$

(see [2, 4, 9] for details). It is not difficult to determine that these operations are well-defined.

The operations  $\oplus$  and  $\otimes$  also give  $\mathbf{R}$  an order relation  $\leq$ :

$$x \leq y \Leftrightarrow g(x) \leq g(y).$$

It is easy to determine that this kind of order always coincides with its usual type in  $\mathbf{R}$ , provided that  $g$  is strictly monotonic.

Now we introduce the notion of a  $g$ -derivative, as follows:

**Definition 2.1** Let the function  $f$  be defined on the interval  $[c, d]$  and with values in  $[a, b]$ , if  $f$  is differentiable on  $(c, d)$  and has the same monotonicity as the function  $g$ , then we define the  $g$ -derivative of  $f$  at the point  $x \in (c, d)$  as

$$\frac{d^{\oplus} f(x)}{dx} = g^{-1}\left(\frac{d}{dx} g(f(x))\right), \quad (2)$$

**Theorem 2.1** If there exists  $n$ th  $g$ -derivative of  $f$ , then we have

$$\frac{d^{(n)\oplus} f(x)}{dx^n} = g^{-1}\left(\frac{d^{(n)}}{dx^n} g(f(x))\right). \quad (3)$$

**Proof.** The proof follows directly from Definition 2.1 and properties of pseudo-operations [4].

**Example 1** Let  $g(u) = u^3$ , then we have  $g^{-1}(u) = (u)^{1/3}$ . The  $g$ -derivative is given by

$$\frac{d^{\oplus} y}{dx} = g^{-1}\left(\frac{d}{dx} g(y)\right) = g^{-1}\left(\frac{d}{dx} y^3\right)$$

$$= g^{-1}(3y'y^2) = (3y'y^2)^{1/3}. \quad (4)$$

Also, the second  $g$ -derivative and third  $g$ -derivative are given by

$$\begin{aligned} \frac{d^{(2)\oplus} y}{dx^2} &= g^{-1}\left(\frac{d^{(2)}}{dx^2} g(y)\right) = g^{-1}\left(\frac{d^{(2)}}{dx^2} y^3\right) \\ &= g^{-1}\left(\frac{d}{dx} 3y'y^2\right) = g^{-1}(3y''y^2 + 6y'^2 y) \\ &= (3y''y^2 + 6y'^2 y)^{1/3} \end{aligned}$$

and

$$\begin{aligned} \frac{d^{(3)\oplus} y}{dx^3} &= g^{-1}\left(\frac{d^{(3)}}{dx^3} g(y)\right) \\ &= g^{-1}\left(\frac{d}{dx} (3y''y^2 + 6y'^2 y)\right) \\ &= g^{-1}(3y'''y^2 + 18y''y'y + 6y'^3) \\ &= (3y'''y^2 + 18y''y'y + 6y'^3)^{1/3}. \end{aligned}$$

For  $n$ th  $g$ -derivative of this pseudo-addition, we have

$$\begin{aligned} \frac{d^{(n)\oplus} y}{dx^n} &= g^{-1}\left(\frac{d^{(n)}}{dx^n} g(y)\right) \\ &= g^{-1}\left(\frac{d^{(n)}}{dx^n} y^3\right) \\ &= g^{-1}\left(\frac{d^{(n)}}{dx^n} y \cdot y^2\right) \\ &= g^{-1}\left(\sum_{k=0}^n \binom{n}{k} y^{(n-k)} \cdot (y^2)^{(k)}\right) \\ &= \left(\sum_{k=0}^n \binom{n}{k} y^{(n-k)} \cdot (y^2)^{(k)}\right)^{1/3}. \end{aligned}$$

Similarly, a notion of  $g$ -integral can be introduced as follows:

**Definition 2.2** Let  $g$  be a generating function and  $\oplus$  and  $\otimes$  pseudo-operations given by (1). The pseudo-integral for a function  $f : [c, d] \rightarrow [a, b]$  reduced on the  $g$ -integral is given by

$$\int_{[c,d]}^{\oplus} f(x) dx = g^{-1}\left(\int_c^d g(f(x)) dx\right). \quad (5)$$

**Example 2** Let  $g(u) = \log_a u$ . Then we have  $g^{-1}(u) = a^u$ . The pseudo-integral is given by

$$\begin{aligned} \int^{\oplus} x dx &= g^{-1}\left(\int g(x) dx\right) = g^{-1}\left(\int \log_a x dx\right) \\ &= g^{-1}\left(\int \frac{\ln x}{\ln a} dx\right) = g^{-1}\left(\frac{1}{\ln a} \int \ln x dx\right) \end{aligned}$$

$$= g^{-1}\left(\frac{1}{\ln a} (x \ln x - x + c_1)\right)$$

$$= a^{\frac{x \ln x}{\ln a} - \frac{x}{\ln a} + \frac{c_1}{\ln a}} = a^{\frac{x \ln x}{\ln a} - \frac{x}{\ln a} + c},$$

which

$$c = \frac{c_1}{\ln a}.$$

Now, we use the pseudo-analysis counterpart of the fundamental theorem of the usual calculus.

**Theorem 2.2** Suppose that  $f$  has continuous  $g$ -derivative on  $(c, d)$ . Then we have

$$\int_{[c,x]}^{\oplus} \frac{d^{\oplus} f}{dx} dx \oplus f(c) = f(x), \quad (6)$$

for  $x \in (c, d)$ .

**Proof.** The proof is based on pseudo-operations and the fundamental theorem of the usual calculus [4].

## 2.1 Application

We shall apply the  $g$ -derivative and  $g$ -integral on nonlinear differential equations.

**Theorem 2.3** Suppose that  $f : [c, d] \times [a, b] \rightarrow [a, b]$  is continuous, that  $\psi$  is defined and continuous on

$J = \{x : x_0 - h < x < x_0 + h\} \subset [c, d]$  with values in  $[a, b]$  that  $(x_0, y_0) \in [c, d] \times [a, b]$  with  $\psi(x_0) = y_0$ .

Then the necessary and sufficient condition that  $\psi$  be a solution of

$$\frac{d^{\oplus} \psi}{dx} = f(x, \psi(x)), \quad (7)$$

on  $J$  is that  $\psi$  satisfies the  $g$ -integral equation

$$\psi(x) = y_0 \oplus \int_{[x_0, x]}^{\oplus} f(t, \psi(t)) dt, \quad (8)$$

for  $x \in J$ .

**Proof.** We apply the  $g$ -integral on both sides of (7) and pseudo-adding  $\psi(x_0)$  to both sides and we obtain (8) (see [4]).

**Example 3** Let  $\oplus$  and  $\otimes$  be pseudo-operations. Taking  $g(u) = \tanh u$ , we can consider the simple  $g$ -differential equation

$$\frac{d^{\oplus} y}{dx} = x, \text{ i.e.}$$

$$\frac{1}{2} \ln\left(\frac{1 + y' \sec h^2 y}{1 - y' \sec h^2 y}\right) = x. \quad (9)$$

In a simple way, we can obtain the general solution of this equation, only applying the corresponding  $g$ -integral on both sides (i.e. for  $g(u) = \tanh u$ , then

$$g^{-1}(u) = \frac{1}{2} \ln\left(\frac{1+u}{1-u}\right). \text{ Then we obtain}$$

$$\int \frac{d^{\oplus} y}{dx} dx = \int x dx.$$

Therefore, by theorem (2.3) we have

$$\begin{aligned} y &= \int^{\oplus} x dx = g^{-1} \int g(x) dx = g^{-1} \int \tanh x dx \\ &= g^{-1}(\ln \cosh x + c_1) \\ &= \frac{1}{2} \ln\left(\frac{1 + \ln \cosh x + c_1}{1 - \ln \cosh x + c_2}\right). \end{aligned}$$

Hence,  $y = \frac{1}{2} \ln\left(\frac{1 + \ln \cosh x + c_1}{1 - \ln \cosh x + c_2}\right)$  is a general solution of the nonlinear differential equation (9).

### 3. Main Result

#### 3.1 Application on reduction of order in pseudo-differential equations

There are certain second order pseudo-differential equations that reduce to first order pseudo-differential equations. We will describe some of these here.

**TYPE 1** When the variable  $y$  is missing from the right side, we have

$$\frac{d^{(2)\oplus} y}{dx^2} = f\left(x, \frac{d^{\oplus} y}{dx}\right).$$

So we proceed as follows.

Set  $p = \frac{d^{\oplus} y}{dx}$ . We obtain

$$\frac{d^{(2)\oplus} y}{dx^2} = \frac{d^{\oplus} p}{dx} = f(x, p).$$

Thus, we obtain a first order d.e. for  $p$ . We can solve this

and obtain  $y$  by reduction of  $\frac{d^{(2)\oplus} y}{dx^2}$ .

**Example 4** Let us solve the following nonlinear second order differential-equation in the usual way:

$$-\ln(-y''e^{-y} + y'^2e^{-y}) = -x. \quad (10)$$

This can be done by choosing  $g(u) = e^{-u}$  and  $g^{-1}(u) = -\ln u$ . By means of the formula concerning first and second order pseudo-derivatives, we obtain

$$\frac{d^{\oplus} y}{dx} = y - \ln(-y'),$$

$$\frac{d^{(2)\oplus} y}{dx^2} = -\ln(-y''e^{-y} + y'^2e^{-y}).$$

So the equation (10) can be written as

$$\frac{d^{(2)\oplus} y}{dx^2} = -x. \quad (11)$$

Now, by reduction of the pseudo-derivative, we have

$$\frac{d^{\oplus} y}{dx} = p, \quad \frac{d^{(2)\oplus} y}{dx^2} = \frac{d^{\oplus} p}{dx}. \quad (12)$$

Hence, our pseudo equation reduces to

$$\frac{d^{\oplus} p}{dx} = -x. \quad (13)$$

We have

$$-\ln\left(\frac{d}{dx} e^{-p}\right) = -x \Rightarrow \frac{d}{dx} e^{-p} = e^x$$

$$\Rightarrow de^{-p} = e^x dx.$$

Now, applying the integral on both sides, we obtain

$$\int de^{-p} = \int e^x dx \Rightarrow e^{-p} = e^x + c_1$$

$$\Rightarrow -p = \ln(e^x + c_1).$$

Alternatively, we have

$$p = \frac{d^{\oplus} y}{dx},$$

therefore,

$$-\ln\left(\frac{d}{dx} e^{-y}\right) = -\ln(e^x + c_1)$$

$$\Rightarrow \frac{d}{dx} e^{-y} = e^x + c_1 \Rightarrow -y'e^{-y} = e^x + c_1,$$

applying the integral on both sides, we obtain

$$\int -y'e^{-y} dx = \int (e^x + c_1) dx$$

$$\Rightarrow e^{-y} = e^x + c_1 x + c_2,$$

and

$$y = -\ln(e^x + c_1 x + c_2).$$

Hence,  $y$  is the solution to the equation (10).

**Example 5** Now we also present an equation of the second order, the solution of which is similar to the previous example

$$-\ln(-y''e^{-y} + y'^2e^{-y}) + y - \ln(-y') = -x. \quad (14)$$

Again, we shall choose  $g(u) = e^{-u}$ . Hence, we have

$$\frac{d^{\oplus} y}{dx} = y - \ln(-y'),$$

$$\frac{d^{(2)\oplus} y}{dx^2} = -\ln(-y''e^{-y} + y'^2e^{-y}).$$

Therefore, the equation (14) can be written as



$$\frac{d^{(2)\oplus}y}{dx^2} + \frac{d^\oplus y}{dx} = -x. \quad (15)$$

Now, by reduction of the pseudo-derivative, the pseudo equation reduces to

$$\frac{d^\oplus p}{dx} + p = -x. \quad (16)$$

We have

$$-\ln\left(\frac{d}{dx}e^{-p}\right) = -(x+p)$$

$$\Rightarrow \frac{d}{dx}e^{-p} = e^{x+p} = e^x \cdot e^p$$

$$\Rightarrow \frac{de^{-p}}{e^p} = e^x dx,$$

now, applying the integral to both sides, we have

$$\int e^{-p} de^{-p} = \int e^x dx$$

$$\Rightarrow \frac{e^{-2p}}{2} = e^x + c_1 \Rightarrow e^{-2p} = 2e^x + 2c_1$$

$$-2p = \ln(2e^x + 2c_1) \Rightarrow p = -\frac{1}{2}\ln(2e^x + 2c_1).$$

Alternatively, we have

$$p = \frac{d^\oplus y}{dx},$$

Hence, we must have

$$-\ln\left(\frac{d}{dx}e^{-y}\right) = -\frac{1}{2}\ln(2e^x + 2c_1)$$

$$\Rightarrow \frac{d}{dx}e^{-y} = (2e^x + 2c_1)^{1/2}$$

$$-y'e^{-y} = (2e^x + 2c_1)^{1/2},$$

applying the integral on both sides, we obtain

$$\int -y'e^{-y} dx = \int (2e^x + 2c_1)^{1/2} dx$$

$$\Rightarrow e^{-y} = \int (2e^x + 2c_1)^{1/2} dx,$$

by variation of variable for the right side, we have;

$$2e^x + 2c_1 = u^2 \Rightarrow 2e^x dx = 2udu,$$

by integration we have

$$e^{-y} = \int \frac{2u^2}{u^2 - 2c_1} du = 2 \int \frac{u^2 - 2c_1 + 2c_2}{u^2 - 2c_1} du$$

$$= 2 \int \left(1 + \frac{2c_1}{u^2 - 2c_1}\right) du$$

$$= 2 \int \left(1 + \frac{\frac{1}{2}\sqrt{2c_1}}{u - \sqrt{2c_1}} - \frac{\frac{1}{2}\sqrt{2c_1}}{u + \sqrt{2c_1}}\right) du$$

$$= 2\left(u + \frac{1}{2}\sqrt{2c_1} \left(\ln \frac{u - \sqrt{2c_1}}{u + \sqrt{2c_1}}\right) + c_2\right).$$

Therefore, we have

$$e^{-y} = 2\left(\sqrt{2e^x + 2c_1} + \frac{1}{2}\sqrt{2c_1} \left(\ln \frac{\sqrt{2e^x + 2c_1} - \sqrt{2c_1}}{\sqrt{2e^x + 2c_1} + \sqrt{2c_1}}\right) + c_2\right),$$

then

$$y = -\ln\left(2\sqrt{2e^x + 2c_1} + \sqrt{2c_1} \left(\ln \frac{\sqrt{2e^x + 2c_1} - \sqrt{2c_1}}{\sqrt{2e^x + 2c_1} + \sqrt{2c_1}}\right) + c_2\right),$$

which is the solution to the equation

(14).

**Example 6** Let  $g(u) = \ln(1-u)$ . We solve the following equation using the characteristic method:

$$1 - \exp \frac{-y''(1-y) - (y')^2}{(1-y)^2} = -x. \quad (17)$$

We have

$$\frac{d^\oplus y}{dx} = 1 - \exp \frac{d}{dx} \ln(1-y),$$

$$\frac{d^{(2)\oplus}y}{dx^2} = 1 - \exp \frac{-y''(1-y) - (y')^2}{(1-y)^2}.$$

Therefore, the equation (17) can be written as,

$$\frac{d^{(2)\oplus}y}{dx^2} = -x. \quad (18)$$

Now, by reduction of the pseudo-derivative, the pseudo equation reduces to

$$\frac{d^\oplus p}{dx} = -x. \quad (19)$$

We have

$$1 - \exp \frac{d}{dx} \ln(1-p) = -x$$

$$\Rightarrow \frac{d}{dx} \ln(1-p) = \ln(x+1).$$

Applying the integral on both sides, we have

$$\int d \ln(1-p) = \int \ln(x+1) dx$$

$$\Rightarrow \ln(1-p) = ((x+1)\ln(x+1) - x + c_1)$$

$$1-p = \exp((x+1)\ln(x+1) - x + c_1)$$

$$\Rightarrow p = 1 - \exp((x+1)\ln(x+1) - x + c_1).$$

Alternatively, we have

$$p = \frac{d^{\oplus} y}{dx} = 1 - \exp \frac{d}{dx} \ln(1-y),$$

Therefore

$$\begin{aligned} 1 - \exp \frac{d}{dx} \ln(1-y) \\ = 1 - \exp((x+1)\ln(x+1) - x + c_1) \\ \frac{d}{dx} \ln(1-y) = (x+1)\ln(x+1) - x + c_1, \end{aligned}$$

Applying integration on both sides, we have

$$\int d \ln(1-y) = \int ((x+1)\ln(x+1) - x + c_1) dx.$$

Using integration by parts for the right side, we have

$$\begin{aligned} u = \ln(x+1) \Rightarrow du = \frac{1}{x+1} dx \\ dv = (x+1)dx \Rightarrow v = \frac{(x+1)^2}{2}, \end{aligned}$$

Therefore

$$\begin{aligned} \ln(1-y) &= \left( \frac{(x+1)^2}{2} \ln(x+1) \right. \\ &\quad \left. - \int \frac{(x+1)^2}{2} \cdot \frac{1}{x+1} dx \right) - \frac{x^2}{2} + c_1 x + c_2 \\ \ln(1-y) &= \frac{1}{2} (x+1)^2 \ln(x+1) \\ &\quad - \frac{1}{4} (x+1)^2 - \frac{1}{2} x^2 + c_1 x + c_2. \end{aligned}$$

We finally obtain

$$y = 1 - \exp\left(\frac{1}{2} (x+1)^2 \ln(x+1) - \frac{1}{4} (x+1)^2 - \frac{1}{2} x^2 + c_1 x + c_2\right),$$

which is the solution to the equation (17).

**TYPE 2** When the independent variable is missing, we have

$$\frac{d^{(2)\oplus} y}{dx^2} = f(y, \frac{d^{\oplus} y}{dx}).$$

Again, we set  $p = \frac{d^{\oplus} y}{dx}$  and obtain

$$\frac{d^{\oplus} p}{dx} = f(y, p).$$

We attempt to treat  $y$  as a new independent variable. Then

$$\frac{d^{\oplus} y}{dx} = p,$$

$$\frac{d^{(2)\oplus} y}{dx^2} = \frac{d^{\oplus} p}{dy} \cdot \frac{d^{\oplus} y}{dx} = p \cdot \frac{d^{\oplus} p}{dy} = f(y, p),$$

we solve this and then integrate  $y = \frac{d^{\oplus} p}{dx}$  to obtain  $y$ .

**Example 7** As an example, let us solve the following equation, using the classical method:

$$-\ln(-y''e^{-y} + y'^2 e^{-y}) + y(y - \ln(-y')) = 0. \quad (20)$$

This can be done by choosing  $g(u) = e^{-u}$  and  $g^{-1}(u) = -\ln u$ . By means of the formula concerning first and second order pseudo-derivatives, we obtain

$$\frac{d^{(2)\oplus} y}{dx^2} + y \frac{d^{\oplus} y}{dx} = 0.$$

Hence, our pseudo equation reduces to

$$p \frac{d^{\oplus} p}{dy} + y \cdot p = 0 \Rightarrow \frac{d^{\oplus} p}{dy} + y = 0.$$

Alternatively, we have

$$\frac{d^{\oplus} p}{dy} = g^{-1}\left(\frac{d}{dy} g(p)\right) = -\ln\left(\frac{d}{dy} e^{-p}\right).$$

Therefore, we have

$$-\ln\left(\frac{d}{dy} e^{-p}\right) = -y$$

$$\Rightarrow \frac{d}{dy} e^{-p} = e^y \Rightarrow de^{-p} = e^y dy,$$

Applying the integral on both sides, we obtain

$$\int de^{-p} = e^y dy$$

$$\Rightarrow e^{-p} = e^y + c_1 \Rightarrow -p = \ln(e^y + c_1).$$

We have  $p = \frac{d^{\oplus} y}{dx}$ , therefore,

$$\ln\left(\frac{d}{dx} e^{-y}\right) = \ln(e^y + c_1)$$

$$\Rightarrow \frac{d}{dx} e^{-y} = e^y + c_1 \Rightarrow -y' e^{-y} = e^y + c_1$$

$$y' = -\frac{c_1 + e^y}{e^{-y}} = -\frac{c_1 + e^y}{\frac{1}{e^y}} = -e^y (c_1 + e^y)$$

$$\Rightarrow \frac{dy}{dx} = -e^y (c_1 + e^y)$$

$$\frac{dy}{-e^y (c_1 + e^y)} = dx,$$

by integration on both sides, we have

$$\int \frac{dy}{-e^y (c_1 + e^y)} = \int dx$$

$$\frac{-1}{c_1} \int \left( \frac{1}{e^y} + \frac{-1}{c_1 + e^y} \right) dy = \int dx$$

$$\frac{-1}{c_1} \left( \int e^{-y} dy - \int \frac{dy}{c_1 + e^y} \right) = \int dx,$$

by variation of variable of  $u = c_1 + e^y$ , for  $\int \frac{dy}{c_1 + e^y}$ , we

have

$$\begin{aligned} \int \frac{du}{(u - c_1)u} &= \int \left( \frac{1}{(u - c_1)} + \frac{-1}{u} \right) du \\ &= \frac{1}{c_1} (\ln(u - c_1) - \ln u) \\ &= \frac{1}{c_1} (\ln(e^y) - \ln(c_1 + e^y)) \\ &= \frac{1}{c_1} (y - \ln(c_1 + e^y)). \end{aligned}$$

Then, we finally have

$$\frac{-1}{c_1} \left( -e^{-y} - \frac{1}{c_1} (y - \ln(c_1 + e^y)) \right) = x + c_2.$$

Therefore, we obtain the solution to the equation (20).

#### 4. Conclusion

In this paper, we have introduced a new method for solving nonlinear differential equations. Using pseudo-analysis, the reduction of a pseudo-differential equation, as it was shown, allows us to obtain solutions of some nonlinear differential equations using the classical method, which were not achieved by the classical tools. Some further developments

related to more general pseudo-operations with applications on nonlinear differential equations were obtained in [5, 6].

#### References

- [1] T. M. Apostol, Mathematical analysis, *Addison Wesley, Publishing Company*, 1975.
- [2] V. P. Maslov, S. N. Samborskij, Idempotent analysis in: V. P. Maslov, S. N. Samborskij(Eds), *advances in soviet mathematics*, vol. 13, *American mathematical society*, providence, 1992.
- [3] K. M. Naralnikov, On integration by parts for Stieltjes-type integrals of Banach space-valued function, *Real analysis exchange*, vol. 30, no. 1, pp. 235-260, 2004/2005.
- [4] E. Pap, g-calculus, Univ. u N. Sadu, Zb. radova PMF, *Ser. Mat.* vol. 23, no. 1, pp. 145-156, 1993.
- [5] E. Pap, Pseudo-additive measures and their applications, in: E. Pap (Ed.), *Handbook of measure theory*, Elsevier, Amsterdam, pp. 1403-1465, 2002.
- [6] E. Pap, D. Vivona, Non-commutative and associative pseudo-analysis and its applications on nonlinear partial differential equations, *J. Math. Anal. Appl.*, vol. 246, no. 2, pp. 390-408, 2000.
- [7] W. Rudin, Real and complex analysis, NewYork, *McGrow-Hill*, 1960.
- [8] I. Stajner-Papuga, T. Grbic, M. Dankova, Riemann-Stieltjes type integral based on generated pseudo-operation, *Novi sad journal of mathematics*, vol. 36, pp. 111-124, 2006.
- [9] I. Stajner-Papuga, T. Grbic, M. Dankova, Riemann-Stieltjes type integral, University of Novi sad, *Journal of information sciences*, vol. 179, pp. 2923-2933, 2009.